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Sample Quiz
Lessons xx–xx

	 1.	 Write 200,000 + 40,000 + 600 + 20 + 2 as a base-ten number.  

	 2.	 Tracy’s cat was stuck high in a tree.  She had climbed 750 centimeters.  How 
many meters high was the cat?  

	 3.	 56,907 + 23,455 = ?   

	 4.	 9,325  ÷  5 = ? 

	 5.	 What do you get when you add the height of two of the tallest saplings?    

	 6.	 Choose the sign that makes this sentence true.  

	 7.	 Write the name of the right angle in the answer box.

  

	 8.	 Use the distributive property to multiply 34 × 54.  Show the product.    

	 9.	 Jennifer and Christian were writing a song for music class.  For homework 

Jennifer wrote 
3

10  of the song, and Christian wrote 
2
10  of the song.  How much 

of the song was done when they went to class?    

	 10.	 Round 25,679 to the nearest ten thousand.  

	 11.	 GJ
� ���

 and GK
� ���

 are perpendicular.  What is the value of e?  

	12.	 Complete the fraction model to solve 5 × 2
4

.  

	 13.	 What is the area of the rectangle?  Label the answer.  

	 14.	 512 − 233 = ?  

	 15.	 Find all the factor pairs for 27.    
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1.	 2.	 3.	

4.	 5.	 6.	

7.	 8.	 9.

10.	 11.	 12.	

13.	 14.	 15.	

4.NBT.2 4.MD.2 4.NBT.4

4.NBT.6 4.MD.4 4.NF.2

4.G.1 4.NBT.5 4.NF.3

4.NBT.3 4.MD.7 4.NF.4

4.MD.3 4.NBT.4 4.OA.4
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